FMRIERSHEZFAUICEE (%5 FE)

(Bf7 : M)
o e P = mEgE | SSRMES
5 5772
7 — DE=R
KRR R ﬁﬁ’;’fa’*lw OKBEIRREM) OUBEE | b0 19.31ha 14.802,618| 14,802,618
R R ENFEOA THOUBSEHSECHE 2R | BULERE  74.31ha 39,800,000 | 36,040,000
= = st i pot & ([~ BB (— 3
B | mreememms A sz ggﬁb%ﬁ*’%@%ﬁﬁgl‘“{%migu 193 | so—r—5 1882 32,620,000 | 32,620,000
& . : -
HO< DHERGENEE Eggﬁ;ﬁf@*@gi;@ﬁ;}%gj‘g SRR 1,121.20ha 22,424,000 |  22,424.000
E=5USOREEE Egggﬁgﬁgﬁg@%wwﬁﬁﬁﬁ%aﬁﬂjﬁ 24 1R 4,015,000 4,015,000
FO< DEWFERZES | THOERER IR ZT 570 < O E! “
;’O< DBVFERIES gggg;?g:;;;%m“j< OEMACHE | ¢ LS oA 24,038,000 | 13,604,382
A |FsmmmseE ;;‘?gggf:‘@*’“**‘%ﬁmﬁﬁ*ﬁﬁtﬁﬁ’“: SFAREE 6 18,438,000 17,838,000
:ﬁ: BB rmAs A == s = Syt | 2 = o E
- — ;E{Tgigiz@gégéﬁ?5%%@%;@%’6&&1’[} E*M’E%E O NCHUE 168 |, oo T 100000
77 155 FH = 4 3B 77 a5 B i AT %k 33 phls == EOA (T
Q%uéﬂﬁiﬁ%uxﬁ%)\$ @ifﬁiﬂﬁﬁﬁipzﬁ (SEUABIS) DBAITH | oy | oy 458,000 458,000
i;;;';gﬁﬁxﬁm%; gt s U o S DA B L (O T BB | 10 4 12,122,000 | 12,122,000
N s 4x— .
M | empesmss (2R | 1RSI SHBHON - BTFOEA IR 4S8R ABT 550K |, 631817 | 3,920,000
[ 1B%& #: 4158 BF: 612
EIHREFEE (2R | hRRCHST SISO, - BFOEA R L4348 AT 482 | o e g5 4080000
4% #7458 BT : 4250
=111 201,004,820 | 163,924,000

XEIBSEML IR UEAF - £/ FZ, BUOHT LR <KHMRICTDOFFEVW TS <BMEFE. —MRN(C(FUHE TR EIFEN D,




